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10.

12.

Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of 75 objective type questions. Each question

will carry two marks. All questions of Paper-III will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

@) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(1) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(Tii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.

ONON NO

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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11.
12.
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PHYSICAL EDUCATION

Paper III
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yyurent 111

Time Allowed : 2% Hours]
Note : This Paper contains Seventy Five (75) multiple choice questions. Each
question carries Two (2) marks. Attempt All questions.

AT : A GAUehd TR UegaR (75) Sg9didl Y STed. Yk YA @M (2) T

[Maximum Marks : 150

M. | 93 Hred.

1.

A bell-shaped curve is :

(A) Positively Skewed Curve
(B) Negatively Skewed Curve
(C) Normal Curve

(D) Bimodal Curve

Serve in Volleyball is an example

of :

(A) Giving impetus to one’s own
body

(B) Receiving impetus from one’s

own body

(C) Receiving impetus from

external object

(D) None of the above

HIhd! Tk ST Ul :
(A) -foefad =

(B) RU-foufd =
(C) JHHA 9%

)R -NECED

SEiAeadqeld o & a9 3TeL0

AR

(A) a1 IR 991 (3FeH)

B0

(B) =1 s YO (SHIEH)

el

(C) 9T I&hed Tod (SHeH) =0
(D) adietiest e

[P.T.O.



Which of the following is not a
specified objective of physical
education curriculum for the state

of Maharashtra ?

(A) Skill-related fitness

(B) Health-related Physical Fitness

(C) Physical Literacy

(D) Lifetime physical activity

behaviour

The major contributors of energy in
the early minutes of high-intensity

exercise are :

(A) ATP-PC system

(B) ATP-PC and glycolytic system

(C) Glycolytic system

(D) Oxidative system

DEC-71313/111

TEICTUh! v 3fEs HERTSE TSATHS=

o~ N N o~ N

EUREAC D e E e NI EN EET e B CEIN[Y

A& ?

(A) wRTEATISd gged

(B) STRrAfysda ggadl

(C) IR Trerar
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3= digd=al M YRYT=A el

fafterd 9@ e 9d @ oF5

(A) Tdi—diE faea

(B) TIUI-WHl 9 TAM™hifdAfesh faeH

Ne o o

(C) T IhIlcllEeh THEH

(D) afferredieg faeen
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Match List I with List [T and select | 5 & 1 9 1I ECE] Tt fesdedn

the correct option from the codes .
YehdlhMmEd ard g ferer -

given below :

List I List II R | o I
(i) Speed (1) Rate of 0O = (1) Foeame SeevarT
change of -
displacement
(@) o (2) S SEETE
(i) Velocity (2) Rate of
change <
of velocity ) B (3) IR aEErvEAE
(iti) Acceleration (3) Rate of
L3
change of
. (iv) o (4) F ST
distance
(tv) Force (4) Rate of X
change Hdi

of momentum

@ @ @) ()

Codes :
) @) @)  (Gv) (A) (1) (2) (3) (4)
@ o @ @ @ ® @ @ @O @

B B @ @O @
© 3 @ @ @
D B @O @ @ D O @

< 3 @ @ @

5 [P.T.O.



6.

A study that investigates the
relationship between gender and
participation in sport would be an
example of :

(A) Fundamental research

(B) Descriptive research

(C) Experimental research

(D) Action research

Which of the following is
not considered in the pre-game
meal ?

(A) Timing

(B) Balanced diet

(C) Fluid content

(D) Energetics

The order of exercise in a strength
training programme should be :
(A) Large mass, multijoint

(B) Single joint, smaller mass

(C) Large mass, single joint

(D) Smaller mass, multijoint
Running has the following
mechanical phases :

(z) Backward support phase

(zi) Forward support phase

(zit) Double support phase

(tv) Flying phase

The correct phase is :

(A) I, II, III

(B) II, III, IV

©) I, III, IV

D) I, II, IV

DEC-71313/111

e & ISl WEWNT Il HegaHT
A’ § R YhI=A GINYAT
3[R AR ?

(A) qaqd GeheA
(B) SUATHS: GINEA
(C) YrifiTeh EeNeA
(D) Fet Hemer

TS SRR Jereden! 3= foram
el SId AR ?

(A) SRR dadl

(B) HHAIA 3MER

(C) SRR ST JHI
(D) e (Tsifer)

TqTehe AfYT&I0T hTIhHTAIT SHTETHTET A
Al AHMET

(A) 13 €, dgaidta
(B) THEHE, B T
(C) WS T, THaAH
(D) BRI EH, sgaE

graTgTHEd qEra ATTART  awen
AGAd

() whas FuR (UfTHT SER) STaree
(i) RO U (ITMH MYR) 3Teeen
(iii) €9 quR (fgemam) staeen

(v) 3SSTU STEq

feq ofaeen oY :

(A) I, II, III

(B) II, III, IV

(C) I, III, IV

D) I, I1, IV




10.

11.

Pedometer measures the number of
steps taken by an individual. This
is a direct measurement of :

(A) Level of physical activity

(B) Leg strength

(C) Cardiovascular endurance

(D) Speed

Match List I and List IT and select
the correct answer from the codes

given below :

List 1 List II
(z) Choraco- (1) Inferiorside
brachialis of shoulder
joint

(11) Teres Minor (2) Superior side

of shoulder

joint
(zi1) Middle (3) Posterior
deltoid side of
shoulder
joint
(fv) Letissimus (4) Anterior side
dorsi of shoulder
joint
Codes:
@ @) G (o)

Aa @ G @ @
BB @ QO @
@2 O @ A
O @O @ G @

10.

11.
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KA TRUT ATcTeied] Thali=a T&i
TS YSHTe § I3 hid. T he™ TA&
YT AR ?

(A) TR fohamsiierar & (fRfSeha

sffeefeedl) oiea
(B) UM dlhe
(C) TUfWERT SHERY
(D) =7
AT 19 11 Sesad Ard qare et foeresn
Hehdrenayd faer .
T 1 T 11
(i) hIhI- (1) S qieAr
siferanferd ST
(i) NG AER (2) GrETA Wit
SHHATS]
GHAREES) (3) = WieATst
SIGIER) =5 SIS (HAT=)
(lv) wfefaad  (4) WET= WA
< ST =9 (i)
Hehdlah :
@ @) G o)

Aa @ & @ @
B 6 @ @O @
©c 2 @O @ 3
M ®» @ G @

[P.T.O.



12.

13.

The most critical psychological
variables in sports performance

are :
(I) Intelligence
(I1) Anxiety management
(ITI) Mind training

(IV) Aptitude

The correct answer is :
(A) II and III

(B) T and IV

(C) T and II

(D) III and IV

‘Imagery’ is often used by athletes

to :

(A) Enhance concentration
(B) Reduce anxiety

(C) Cope with emotions

(D) Improve confidence

12.

13.
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SISl HTIAATATAA Fafd Hgcardl

AR 99

I  dfga

~

(1) oo <FeemE

(III) wAr= gfeo
(IV) =d

Sfea wfa TR
(A) I 9 III

(B) I a1V

() IaIl

(D) I = 1V

Y ‘AN B A gkl ATHIS!
o idld

(A) THFE FURU

(B) T =d =
(C) WEHMT 9ER oy
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14. Match List I with List IT and choose
the correct answer from the codes

given below :

List I List II
() Multiactivity (1) To expose
Curriculum students to
Model a variety of
physical
activity and
sport
(z1) Fitness (2) To teach
Curriculum students to
Model become
sports
literate
(zi1) Lifelong (3) To improve
physical activity and
curriculum maintain
model physical
fitness for a
lifetime
(fv) Sports (4) To help
education students
curriculum find
model physical
activities
they like
and do
Codes :
@ @ @) (o)
A D @ 3 (@
B 1 B @ (2
oG @ & @
D 1D B @ @

DEC-71313/I1I
14. <1 I 9 O g et foadedn

YehdlhMmEd a3 ferer -

et 1 et 11
G) wg3usd (1) foemeafw fafay
SAITHHH T 3UHH o
sTfeheq HISTIR AT
HYehid AT
(i) ggear (2) ferneata
STIRITHRH EISIIEERERRSIEAR
3TfeRey SAfera
(i) SSeq (3)  AS{eA TR
RRiIED Hgadl Gurol
IERINISEI g fehan
TSR H
Aahey
(fv) HISIIAT (4) YA AFSH
SAITHHH i 3uhH
Afahey WMYTIE o
HOGY Hed
0!
WHehdich :

@ @ @) )
@A o @ @ @
B 1 G @ @
o O 2@ @ @
O O 6 @ @

[P.T.O.



15.

16.

17.

18.

Diseases transmitted via the blood
are :

(A) AIDS and Hepatitis

(B) Tuberculosis and AIDS

(C) Chickenpox and AIDS

(D) Cholera and Malaria

The initial steep rise in the learning
graph is an indication of quick
progress and is technically known
as :

(A) End spurt

(B) Saturation point

(C) Initial spurt

(D) Plateau

In order to ensure that the athlete
is perfectly prepared and can ‘peak’
for competition. This process may be
undertaken :

(A) Acclimatizing

(B) Tapering

(C) Competing

(D) Adapting

Two athletes perform strict biceps
curls with 15 kg dumb-bells. One
athlete has much longer forearms.
Why does the biceps curl demand
more muscular force from the athlete
with the longer forearms ?

(A) Resistance Arm >
(B) Resistance Arm <
(C) Resistance Arm =

Force arm
Force arm
Force Arm

(D) Force arm is minimum

15.

16.

17.

18.
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TR GO § T 3led ¢

(A) Tgd 9 fedeaicd (wmEis)

(B) &= 9 UgH

(C) HIfSval 9 TSH

(D) Tt 9 feaam™

ST TGN YR el =@ BT Sieig
T 3Tk 3TIY. Tl & YMGa Gall
AR

(A) ifaq 39t

(B) Hyeir foig

(C) URY YA

(D) YaraERaQ

Cesrg ! Ui qART el 3TEA d TaEdre
qaied didedid hRAM |y Iehal ATl
@t HOAEEl & ufohAr Bl Sdrd
(A) TEau qeu

(B) <ufw (e =T0)

(C) Tui IO

(D) STIHRT HI

A Werg 15 TR e g TgH
S el LA, ATdeh! Tehl Teagdl
Yog (RRSAH) gH-ATIET S e
3T, el Jag STHU1 TSl S
Hed HIar Afae 9| w1 AreTa
e ?

(A) 19 &g > 9 918
(B) 14 9§ < 9 91§
(C) M4 &g = 91 &g

(D) 9@ 9 fFam o

10
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19. Review of literature helps researcher | 19. GINYRTY FeuaIgr=a sTesAr=t 72
to : Hed B
(1) State hypothesis (1) YRehegT HiSvamEa
(2) Establish theoretical basis (2) HeNeAeT A SoF SvrEdt
(3) Analyze scores (3) WEiEE feasT HEEEt
(4) Evaluate related research work .. . .
. (4) Gofgd HINe A JodHrad
The correct answer is :
A) 1,2, 3, 4 FAHI
(B) 1 and 2 RUEERREECI A
(C) 1, 2 and 4 A 1, 2, 3, 4
(D) 2 and 4 B) 192
20. The ‘Inverted U-Hypothesis’ for (C) 1,2 94
anxiety and its relation with D) 2 9 4
performance states that this levels 20. ol o FremHEEART T6fta T=ie 9
Zf .anXlety is/are  maximally IReFEIIYHTY =i 21 UTdedl ShiEHHEIe)
etr1mer.1tal for performance : i .
(A) Optimum
(B) Moderately low (&) T
(C) Moderately high (B) war=t T
(D) Very high and very low (C) =er=it S
21. The statement given below is false. (D) 3Ifa S (=) 9 Afd A
Select the correct option for the | 21. fedid faum g™ R, ufed
underlined words, so that the TS I gat ﬁa@ faug O
statement is correct : Fq
The pulmonary veins carry b-lood L e R L =
from the lungs to the right -
atrium : TR AR @
(A) Left atrium (A) STt it
(B) Left ventricle (B) Srel SafTeht
(C) Right atrium (C) 3t whftient
(D) Right ventricle (D) 3STell STefeh
11 [P.T.O.
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992. Match List I and List IT and select
areh Lish 2 and Lst ML an@ seCt | oo @t 1 9 11 Wwad wre fede

the correct answer from the codes

HehdlhMmEA I o ferer

given below :

List I List II T T I

(D) Perfectly (1) angle of (G) 9IU YA (1) S
elastic impact < 90° TFFT FH < 90°
collision

(i) STq0 JARI (2) e = < 1
(71) Partial 2 e=<1

. <Fh{
elastic
collision (iii) JA& THRT  (3) SATEEHT I
(iii) Direct (3) angle of impact = 37T
collision = angle of (Feree) FH

rebound

(fv) ATIYT TFRL 4) e =1
(iv) Indirect 4) e=1

lisi 'H@ﬂfaﬁ :
collision
Codes : @ @ @) @v)

@a o @ @ O
B & O @ @
© @ @ @ @
M@ & @GO @ M@ @ @O @

B & O @ @

@ @@ O (1)

12
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23. What aspect of body movement | 95 qEreiR! HIUE e TS IR S
refers to body awareness ? T}T ?

(1) To identify the parts of body (1) IATE 9T 9 IR HOli\Ulrdl
and the whole

(2) To establish the relationship of (2) I=AT YRGS gEnfud
body parts ETU|

(3) To be able to identify body parts (3) v fafay wm

The correct answer is : I I AR

(A) (1) and (2) A) (1) T (2)

(B) (1), (2) and (3) B) 1), (2) = 3)

(C) (2) and (3) (C) @) T3

(D) (1) and (3) D) @) = (3)

24. “Student will be able to describe why | 24 fereneff ** ST T 9% W@l
heart beats faster during exercise.” FT T, A T HE AR
The statement above is an example S fasm Fioren aEre A
of learning objective is : S SR A2
(A) Psychomotor domain (A) T /FRF &

(B) Cognitive domain (B) seeesh &
(C) Affective domain (C) e &
(D) Fitness domain (D) Fgod &
13 [P.T.O.



25.

26.

Newton’s Second Law of Motion

explains :

(z) Impulse-momentum relation-

ship

(i) Direction of change of
momentum

(211) Relation between applied force
and produced acceleration

(tv) Action-reaction relationship.

Give the correct combination :

A @) @) )

B) G @GiD) (o)

(C) @) Gv) @

D) Gv) @ @)

Situational anxiety during

competition is best tackled by :

(I) Peptalk

(IT) Desensitization

(III) Self talk

(IV) Goal setting

The correct answer is :

(A) II and IV

(B) T and III

(C) T and IV

(D) I and II

25.

26.

DEC-71313/111

T TdifosEeh gE w7 s

Al

(i) STAT-HAT FaY

(i) | agar=t fawm

(i) 9% 9@ 9 fHfHa @eonysia
qay

(iv) feran-gfafsean dey

I Savit ferer

A) ) @) @)

B) @) @) Gv)

(C) @) Gv) @

D) Gv) @ @)

e gfiferds= o ardresvar
ST AE

(D

(IT) TASIOIE R TR LTl

Uuish (IR UTHT)

(ITI1) 9% 2 (F)

IV) &g Fiv=er (e J2im)
AT TG AR

(A) I 91V

(B) I 9 III

O 1491V

D) ITall

14



27.

28.

What type of motivation is not

applicable to young children ?

(A) Extrinsic motivation

(B) Intrinsic motivation

(C) Achievement

(D) All of the above

An athlete runs 30 minutes

everyday, but her 5000 m race time

is staying the same and she is not

having fun any more. What should

she do to improve ?

(A) Run a 5000 m everyday because
practice makes perfect

(B) Add diversity to her exercise
program to keep her from
getting bored or lazy

(C) Continue focussing on all of

her time on running but she

should try to run faster every

time

(D) Continue focussing on all of her

time on running but she should

try to run farther each time

27.

28.
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T HATITS! hIved GehRal JXon Ay
¥ TE ?

(A) sferta geom

(B) @iia oM

(C) A

(D) eRieTdeh! el

T Woolg US 30 fifte grea wq fa=n
5000 m TRt fadsw= (FHM)

TR 3Te 9 A7l fael A1 wREAT 3H<E]

foesTren Ten eTR. & feordt gamvarSt

f =@ = ?

(A) TS 5000 Ht Gremd HRI T
IThRdl Id

(B) e fohdl 3Med A9 T WA

oA ArEaHYSRRIa  fafayar
AT

(C) YcHeholed! SAf¥eh SR &Tervar= Jael
FEA HEAAHT JUId®D AR G
ERC]

(D) Iehoesl ATk Taqdd Heuar

(aV

G A HIAAH Joides TA&Tehald

TG

15
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29.

30.

31.

Which of the following is a non-
probability sampling method ?

(A) Snowball sampling

(B) Random sampling

(C) Stratified sampling

(D) Systematic sampling

DOTS is the most effective strategy
that ensures cure for :

(A) Malaria

(B) Typhoid

(C) Tuberculosis

(D) Hepatitis A

Given below are two statements, one
is labelled as Assertion (A) and the
other as Reason (R) :

Assertion (A) : Sport Psychology is
a science of athlete behaviour.
Reason (R) : No elite sportsperson
can be champion without help from
a psychologist.

In the context of two statements,
which
correct ?
(A) Both (A) and (R) are true
(B) (A)is correct but (R) is no correct

one of the following is

explanation of (A)
(C) Both (A) and (R) are incorrect
(D) (A) is correct but (R) is false

29.

30.

31.
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qAdRT ARIATA HIvTdl I

VI Ugd T ?

(A) Hidiad =y

(B) AGTHIh ~ARIH

(C) wE ~Ieed

(D) YUlleitelg =S¥

‘gl 2 Afde™ IRUTHRRE T=R Tl
I SN Selrsl gHv=dua w3d
(A) fedam™

(B) foremset

(C) &=

(D) FEe ‘A (fedemfem A)
feeTean S dEETdiel Teh faem™ (A) 3T”
9 Th ®RU (R) 3@ :

fRam A) : HIeT AFEITE ®
WA T U 3T
EROT R) : THE A3 WA

HAERTERT AEdaRmd
forsrar &% I1ehd &l
T ey arg faum faer .
(A) A 9 (R) = & HA AR
(B) (A) s 3T g (R) T A =
I TSR0 R
(C) (A) 9 (R) <Ierel <[ 3ed
D) (A) TR @ WY (R) 9
EIE

16
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32. Impulse of force may be defined as 32. 9T HAET FWUSE JrE] [UMHT
the product of : 34
(A) Mass and acceleration (A) I&HE 9 T
(B) Velocity and time (B) 971 9 9@
(C) Force and time (C) 9 9 93
(D) Mass and velocity (D) IHE 9 o
33. The most popular event at ancient | 33. WA ‘sfffeifiaen’ wefier wafq ki
‘Olympia’ was : oq -
(A) Pankration (A) TheH
(B) Boxing B) TS
(C) Jumping (C) W (32
(D) Chariot-racing D) -vdq
34. When assessing internet based | g4 gorye i@ wifscaran smeran Sam
literature, which of the following is
JeIUh! HA WO ARl ?
not important ?
(A) TrEe= favardargd
(A) Credibility of the author
(B) WEe=t =1
(B) Layout of the site
(C) WEeAl Iexd
(C) Purpose of the site
(D) Intended audience of the site (D) WS Sferd ==
17 [P.T.O.



35.

36.

Balance :

(1) 1is ability to retain the centre of
mass of the body over the base

of support

(2) is the awareness of the body’s

position in space

(3) does not depend upon the
coordination between inner ear,

brain, skeleton and muscles
The correct answer is :
(A) (1) and (2) are true and 3 is false
(B) (1), (2) and (3) are true
(C) (1), (2) and (3) are false

(D) (1) is true and (2) and (3) are

false

Regular motion should have the

characteristic of :
(A) Zero velocity
(B) Zero acceleration
(C) Zero displacement

(D) Zero speed

35.

36.
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THAS TS

(1) TR ST HEATRX q«;@ ECSE
ST &I

(2) ATHEMAA IT=A Feerdtogest
STofta

(3) hHTEN ST, Hy, Adedl & Y A

qHoITeR STaeied ATl
3fed T e
(A) (1) 9 (2) TA 3T, (3) 3TEA 3T
(B) (1), (2) 9 (3) ¥ 3R
(C) (1), (2) 9 (3) HH 3R
(D) (1) ¥ 3T, (2)  (3) T8 e
frafia (FRf) wives T ity sraee
AN
(A) = o
(B) I =0
(C) 3 fazaroH

(D) ¥ =




37.

38.

In a PE class, managerial time
refers to amount of time spent

on :
(1) Roll call
(2) Waiting for turn of practise
3)

Dividing teams

(4)

Moving from one formation to

other
The correct answer is :
(A) (1) and (3)
(B) (2) and (4)
(C) (1), (2), (3) and (4)
(D) (2) and (3)

Longitudinal axis of joint movement

is perpendicular to :
(A) Sagittal plane
(B) Transverse plane
(C) Frontal plane

(D) Medio-lateral plane

37.

38.
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.31, amiaiel AT ShIceTa et

BUNI I Aol B il 93
(1) T
(2) TUETAT =T 9 oE0

(3) g= fayrmh

(4) TH TREAQT qEAE ST
g W AR

A @ 7 3)

B) @) 9 (4)

(C) (1), 2), 3) 9 (4)

D) 2 T 3)

i Seeiel STaEm (ANegeHa)
AY I YACTRI THICHMAW STEAl -
(A) ESitedt yaa

(B) Tr=ed (STIyed) Yad

(C) Wed gad

(D) faSten-oiela gad
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39. Total Quality Management (TQM)

40.

is credited with increasing :

(1) Productivity and profitability
(2) Profitability and safety
(3) Satisfied Staff and user groups

(4) Productivity, profitability,

satisfied staff and user groups
The correct answer is :
A) @
(B) (1) and (2)
(C) (1), (2) and (3)
D) )
According to Naturalism, the aim of
education and physical education
is :
(A) Self-realization
(B) Self-expression

(C) Self-adjustment

(D) Life-adjustment
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39. 3Jed FfeIer HASHe (TQM) (HIUl

40.

TTUre SEEIH) U A1 Fehl= a8
¥ HEA S

(1) ScaeAema o fehmrEaeieon

(2) ferrraefitaon = grfaaa

(3) THUMl HHA 9 Teh TIT

(4) JAEATHAT, T hEIaeiTaon, T
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3fad i e
A) @
B) ) T (2)
€ D, 2) 9@
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Frafaear, R g sifes R
T 9 AR
(A) &E-34s
(B) - veKil
(C) -HIANH
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41.

42.

Short-term overloading is also

known as :

(A) Standard loading

(B) Linear loading

(C) Concentrated loading

(D) Step loading

“Fibre composition alone is not a

reliable predictor of athletic

success.”

The statement given above is :

(A) Correct

(B) Incorrect

(C) Ambiguous

(D) Irrelevant

41.

42.
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ATYRTAT AT AHET Tl

SIGEE

(A) JHIUT ¥R

(B) T 9R

(C) TP R

(D) €Y (Td) ¥R
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43. A study compares physical fitness of | 43. T&= UMW 9 IRAUNTGIG fafay

boys and girls of different age groups

AT Hol o Jefr= IMRe ggaan

from rural and urban areas in state

qoTIcHe 31T hid STHAHT Jeiardeh]
for comparison, which of the

following statistical techniques will HIOTCE WG T AR FHTA 2
(1) Chi-square 2 3H
(2) ANOVA

(3) ThIS UL-THh &

(3) Scheffe’s post-hoc test
4) Toem (vfem) it

(4) Regression analysis
(5) ShiTeeh ITCH
(56) Cronbach’s alfa
Sfaa w@g TR

The correct answer is :

(A) 2 9 (5)
(A) (2) and (5)

B) (1) 9 (2
(B) (1) and (2) B) 1) 9 (2)

(C) (2) and (4) (C) 2 9 4)

(D) (2) and (3) (D) (2) 9 (3)
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44. Given below are two statements, one

45.

is labelled as Assertion (A) and the
other as Reason (R) :
(A)

dedication and devotion make sports

Assertion Discipline,
training a real tool of success.
Reason (R) : All alhletes are
devoted to their coaches.

Find the correct answer from the
following :

(A) Both (A) and (R) are incompatible
(B) (A) is true but (R) is false
(C) Both (A) and (R) are true
(D) Both (A) and (R) are false
Given below is a list of function of

management. Select an appropriate

DEC-71313/111

44. feoe I AN T faum (A) T

9 Th RO (R) AR :

= @A) s, wudu g fqsa
A esd wiel gfereor ©
T TR WA .

®RU R) : 99 TiElg AT

arfeefewiefl fAsaram
STHdId.
T e Yid Ay faum faer
(A) (A 9 (R) T& THARRN FTEY
B!
(B) (A) ¥ 8 90 (R) AEH 3
(C) A ¥ R) T=l A e
D) A = [R) T=N TET AR

45. U¢ FORAUA wEEl del foeft SR
title from the options given below. fedean Tafam e @ e
List : S
Directing, Influencing, Motivating, -
Nurturing, Mentoring, Role . ,. R -
, 8 8 feresiq, guretd e, Jeon <o, femon
Modeling,
Options :
(1) Planning (2) Controlling (3) : .
Leading (4) Organising (5) Adm- v frism @ fEm @) Jg=
inistrating (6) Staffing (4) ST (5) TEA (6)  STHa
(A) 6 (A) 6
(B) 2 B) 2
C) 3 C) 3
D) 5 D) 5
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46. Match List I with List IT and select

the correct answer from the codes

given below :

List I
(1) Presage

variables

(1) Context

variables

(i11) Process

variables

(iv) Product

variables
Codes:

@ @)
A 3 @
B) 3 @)
© 3 (@
D @) @)

(1)

(2)

(3)

(4)

€229)
4)
(2)
4)
(2)

List II
Concern
outcomes of
teaching
Concern
characteristics
of environ-
ment
Concern
characteristics
of teachers
Concern
actual
teaching

activity

@)
(2)
(1)
(1)
(4)
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46. & I 9 O S Trel fodedn

HehdlhMEA ard i ferer

o I
@) s =

() ™™

(HTTR2)

GARETRI
()

(Gv) R
(Fre)
EN!
Hehdich :
@ @
A @ @)
B) 3 @
© 3@ @

D) & @)

Ta 11

(1) sreAre foudrei
Gafd STHard

(2) STAERUT=T
TorEEie Hefud
STEA

(3) Tererer=
RUEIN SN
Gafd sTHard

(4) IIG AT

ATl Feiferd
3THA

@)  (v)

4 (@2

@ @

4 @
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47.

48.

The evaluation of present operations
and projection of future planning
and budget development requires :
(A) Cost Analysis

(B) Situational Analysis

(C) Resource Planning

(D) Pilot Implementation
Excessive body fat is accociated with
decreased athletic performance in
activities which require the following
factors "

(1) Speed

(2) Balance

(3) Endurance

(4) Agility

The correct answer is :
(A) (1) and (2)

(B) (1) and (2) and (3)
(C) (1) and (3)

(D) (1), (2), (3) and (4)

47.

48.
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fora@ HaeR Hoa|rd wiasardia

~

RS 31eTSl 9 STeesieh HfHdETe!

B HEH OIS Al

(A) oo fagetsmor (s stfafaw)
(B) uffterdtsr= fomerom

(C) HrgHYt A

(D) Hrieeft ==/ siHersset

IRl IYAR W=l JHIOm=T, 1

shieEmEld Je foeiel S arTam, 3Tem
IetALic HEAH TTERl H9Y R, §
e Aol :

(1) =m

(2) FHdreA

(3) THIRYM

(4) feemfagerm

Sfad wE oe

A) (1) 9 (2)

B) D), (2) 7 (3)

© @ 7 @3)

D) D), (2), G T (4)
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49. Match List I with List IT and select

the correct answer from the codes
given below :
List I List II
(2) Inferential (1) wused to
statistics describe data
(z1) Parametric (2) used when
statistics data is
normal
(zi1) Descriptive (3) used when
statistics data is non-
normal

(tv) Non-para- (4) wused to draw

metric conclusions
statistics

Codes :
@ @ @) (o)

Aa @ @O @ O3
B @ @ @O O3
© @ & QO @
® @ & @ @

DEC-71313/111

49. €1 19 I SJesed A 94 @t feeiean

Hohdined faer .
T 1 T 10

(@) STAMIHS (1) Hifede &
ifEeht

LIS ATl

S
@) TR (2) S wfEd
CIESEIRY) TEMEM 3T
Tiferent LEMCIREEIk)
(i) SUHIEE  (3) Wl Hifed
iftereht = 9 T
qradrd
(fv) AE-TTEEE (4) TRy HeuEEs
(SAYTECHE) STl ST
iftereht
Hehdich
@ G @) Go)

A @ O @ O3
B @ @ QO O3
© @ & QO @
® @ & @ @
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50. Match List I with List IT and select

the correct answer from the codes

51.

given below :
List I

(2) Carbo-
hydrates

(1) Vitamins

(ziz) Minerals

(zv) Protein

List II
(1) Speed up
chemical
reactions
within cells
Supply
energy to

(2)

muscles
(3) Form muscles,
bones, enzymes
(4) Aids in growth

and mainte-

Codes :

@)
A) (2
(B) (2
©
D) 3)

(ii)
(1)
(1)
(2)
(1)

nance
@) Gv)
4 3
3 @
3 @
4 (@

In an experimental study, the

research scholar has completed

control over :

(A) Dependent variables

(B) Intervening variables

(C) Control variables

(D) Independent variable

DEC-71313/111

50. A 19 11 Jedad a7 i et foeied

Hehdrenayd feer .

51.

B I |
G) Tasema
T

(i) S

(iii) &R/Efst

(fv) g

- -
-
-

Ta 11
(1) Geffdtet
RUSIRIEED
FEIRINS
EZul
(2) TR 3t R0
(3) ¥, 7re, ford=rh
wefom

@)
(A) (2)
B) 2)
© @
D) @)

(i1)
(1)
(1)
(2)
(1)

(4) 9€ o fFF=roma
Hed L0l
@)  (v)
4) 3
3 @
Q) @
4) (2

IR R k3G s 1R 7 o e | T | T

qof fEor etEd

(A) et =l
(B) &&&9 =l
(C) fafm =
(D) Tt =t
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52. Match List I with List IT and choose

the correct option from the codes
given below :

List I
(z) Multiple (1)

List II
Anaerobic

sprint capacity and
test peak
anaerobic
power
(z1) Multistage (2) Aerobic
shuttle capacity
test
(zii) Wingate (3) Fatigue
cycling index
test
(tv) 12 min (4) VO, Max
run-walk
test
Codes :

@ @ Gi) @)
Aa 3 @ @ @
B 3 O @2 @
© 3 @ @ @
M 3 2 1 @

DEC-71313/111

52. AR 19 II Jedad a7 i et foeied

Hohdienyd faer .

T 1 T 11

() T (1) eFRifee e
e 3= CRCiCC ENIEED

EICT

(i) HEES (2) Tfeeh HUES
A TR

(Git) forie (3) WM S
qrafeRferT
=

o

Gv) 12 4. TEHR@4) VO, He™
Cas
Hehdich :
@ @) Gu) (o)
Aa 6 @ @ @O
B & O @ @
© G @ @ @

M @ @ @O @
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53.

54.

Match List I with List IT and select

the correct option from the codes
given below :

List I List II
(1) Instrumental (1) Help in
values development
of wholesome
personality
(i1) Economic (2) Useful in
values everyday
life
(217) Humanistic (3) Directly
values linked with
physical
performance
(iv) Quality of (4) Carry expe-
life aspects rience

beyond awa-
reness and

commitment
Codes :
@ @) @) (o)
A 3 O @ @
B 3 @ @ @
©c 3 1 @ @
D 3 @ 1 @

There are two basic purposes of
sports training. The first is to
improve performance capacity and
second is to improve performance
readiness. Performance readiness
involves :

(A) Fitness and conditioning

(B) Techniques and tactics

(C) Knowledge and understanding

(D) Body build and body type

53.

54.
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AT 19 11 SJesad Aard aare Erett foeresn
Hehdrenayd faer .
T 1 T 10
() fafaga (1) wIqel =R
| SEUEEUd Hed
Gi) foit= (2) <Al SfterTa
e ERRII]
(iii) AFECEE  (3) JoAel RIFER
) HIEATHMAT
frreta
(iv) STETIUERT  (4) STI9AMT SUfig
HTh ERESEIEGRRE
aferer 3= 20
Hehdlah :
@ G @) ()
A 3 @O @ @
B 3 @ @ @
€ 3 O @ @
D 3 @ 1 @

el Yiererom= <9 qavd 3Eree
HRA. Th HEAH &Fd GURO o 3N
M TR GO, Meh! HEEH T
S

(A) ggedl 9 &R

(B) 73 9 S@EUA

(C) I 9 3cheid

(D) TR =1Em 9 IR &R
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55.

56.

T be successful in aerobic

endurance activities you need the

following :

(1) High VO, max value

(2) High percentage of ST muscle
fibre

(3) Low lactate threshold

(4) Maximum effort

The correct answer is :

(A) (1) and (3)

(B) (1) and (4)

(C) (1) and (2)

(D) (2) and (3)

Compared to sedentary people, those

who engage in regular moderate

endurance exercise are likely to :

@

(z1) Be less anxious and depressed

Have high muscle mass

(zi1) Fall asleep move quickly and
sleep better

(tv) Have reduced risk of CVD

The correct answer is :

(A) @), @) and (it7)

(B) (i), (ii1) and (iv)

(C) (@), (i) and (iv)

D) @), @) and (v)

56.
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NN

LU

0 QHQIRYU HTAATTT L]

BUIEE § SeRTs IARd
(1) 3= VO, H¥8 qA

(2) T fega Sagqs w9 g9
(3)
(4) AT FIA
3fed g e
A) 1) 9 (3)

EXIEINE R MRS

B) @) = 4)
C @ 92
D) @) 7 (3)

SIS HTH HIOMAT K= qora Fafaa
qeqq digde Wifeeh ™M o=
A § HRIe fHesdial :

() 3y =Y gHw

Gi) fo@ 3 v wH g

(iii) ToRT F AN H9

(i) %d Toahr Boamn dieh A
Elica iR | L

A) @), G) T @)

(B) @), @) 9 (o)

©) @), @) 9 (iv)

D) @), @) T ({v)
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57. Look at the following experimental

design equation and identify the

kind of design it truly represents :

R Oy X 0,

R O 0,

(A) Static group comparison
Design

(B) Pretest-post-test Randomized
Groups Design

(C) Repeated Measure Design

DEC-71313/111

57. Ye fooial 31 hvren grifits sifyehed

Toifad, o e .
R O X 0,
R O 0,

(A) Efeh U wHEE Afvency

(B) g -3TRATAT  ATg=BIHk T
Afyency
(C) s #sR afyehey

(D) diema ot gu sifyehcey

(D) Soloman Three Group Design | 58. T Ul IR Tei A TSI
58. A company designs a new T T TIR . o797 S8 A A
instrument for the measurement of N ﬁ
AT TITEAMT IV JehIE! Sl ]
body fat. The type of validity
K
applicable in this case would be :
INBEEEIRED
(A) Criterion
(B) WEReA (37eTST)
(B) Predictive
(C) Concurrent ©
(D) Test-retest (D) FHE TR
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59.

60.

The primary muscle group that

should be strengthened for a

posterior cruciate ligament injury is :

(A) Hamstrings

(B) Quadriceps

(C) Adductors

(D) Abductors

Blood doping and erythropoetin can

enhance aerobic capacity and the

performance of aerobic sport. This

occurs through :

(1) An increase in oxygen carrying
capacity of blood

(2) Increased red blood cells

(3) Increase in total blood volume

(4) Increase in lipolysis

The correct answer is :
(A) (1), (2), (3) and (4)
(B) (1), (2) and (4) only
(C) (1) and (2) only

(D) (1), (2) and (3) only

59.

60.
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IR HRMWE fHe gEmddEa a1

T S dTehe Tofehfad il STeedeh
I

(A) i

(B) FargrH

(C) ofewd

(D) feresd

=Te ST 9 THIeEges Qe &

YYURAM. GURUT I HROHS Bhad :

(1) TR YUER 98 GHaHe] o
(2) O W GRiHY 9@

(3) AT THU FHUMG AM@

(4) fodifafas 7ed 9e

3fed i e

A) (1), (2), 3) 9 (4)

B) (1), 2) T 4)

C @ 9(©2)

D) (D), (2) 9 (3)
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61. Given below are two statements, one

62.

is labelled as Assertion (A) and the
other is labelled as Reason (R) :
Assertion (A) : Physical Education
is a science.

Reasons (R) : Physical Education
draws principles from different allied
scientific fields.

In the context of the above two
statements, which one of the
following in correct :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

(A) is true, but (R) is false
(A) is false but (R) is true
Both (A) and (R) are false

(B)
(®);
(D)

Lack of vitamin K affects wound

healing because it :

(A) Decreases clotting ability
(B) Decreases chemical agents
(C) Decreases collagen

(D) Thins the blood

61. fooiean <H =il Tk oM

62.
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63.

64.

65.

When assessing an athlete’s pulse

in a medical emergency, the primary

site of palpation is the :
(A) Carotid artery

(B) Jugular vein

(C) Radial artery

(D) Brachial artery

There are different components of
training load. Among them ‘Density’

influences :
(A) Volume
(B) Intensity
(C) Frequency

(D) Duration

There are two groups of 20 students

each. Mean and S.D. of age of group

A is 16 yrs + 2.5 yrs and Group B

is 18 yrs = 5.3 yrs. These results

confirm :

(A) Group A is younger but Group
B is more homogenous than
Group A

(B) Group A is younger and is more
homogenous than Group B

(C) Group B is younger and more
homogenous than Group A

(D) Group B is younger but Group

A is more homogenous

63.

64.

65.
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66.

67.

The two most effective sources of

research problems are :

() Comprehensive literature
search

(II) Colleagues and Senior
faculty

(IIT) Scientific interaction at
Seminars

(IV) Parental guidance

The correct answer is :

(A) () and (IV)

(B) (II) and (III)

(C) (I and (III)

(D) (II) and (IV)

When educating a male athlete
regarding side effects of steroids,

include information about :
(A) Deepening of voice

(B) Osteoporosis and predisposition

to fractures

(C) Diabetes

(D) Increase in muscle bulk

66.

67.
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68.

69.

In continuous methods of training,

the load administration should be
continuous. Some examples of such
training methods are :

(D Fartlek

(IT) Cross-country

(ITI) Weight training

(IV) Extensive interval training
Point out the correct combination :
(A) (ID), (III)

(B) (), (ID)

(C) dII), (IV)

(D) (ID, (IV)

Match List I with List II and select
the correct option from the codes
given below :

List I List II
(1) Blood (1) Improving
doping energy
production
capacity
(z1) Phosphate (2) Aerobic
loading performance
(zi1) Oxygen (3) Blood clotting
supplemen-
tation
(iv) Creatine (4) Increase
supple- anaerobic
mentation power
Codes:

A) 3), (4), (2), (V)
(B) (3), (4), (1), (2)
(C) 4), (3), (2), (1)
D) 3), (1), (4), (2)

68.

69.
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(A) (D), (III)

(B) (D, dD
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D) dD, av)

AT 19 11 Seoad A gt @t feeiean
Hohdienyd faer .
T 1 R |
() I S (1) 3= i
&l
GUrR
(i) wEhe wfe (2) Wik
EaRLIES
GARCIIERER] (3) W W
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(v) feEEH (4) THIfdEH ger
qiteHe™ Srefer
Hehdich

A) 3), (4), (2), (V)
(B) (3), (4), (1), (2)
(C) 4), (3), (2), (1)
D) 3), (1), (4), (2)

36



70.

71.

A wrestler has received numerous

blows on her outer ears. If she

continues to avoid use of headgear,

she will suffer :

(A) Hearing loss

(B) Cauliflower ear

(C) Concussion

(D) Otitis media

Select the correct formula for

calculating correlation coefficient :

w1 B
B 1o S
(C) 1—6§':d><i
o 1 - 62];:d2 « i

70.

71.

DEC-71313/111

ekl HEATISAT HMHET 3Teh STTETd AT

3Rd. MR fa SR SR 9eyur 9ee

IO 2eded, R faen § e

(A) Ts wH IO

(B) hifcToAe

(C) gl AR

(D) 3sieEfeq fafsen

HeHaY HEUlsh YNYUAEE AN g

feren -
(A 1 - 6§x X 1
B) 1- —6fod X i
62fd
1 - ==
(C) f2
D) 1- GZ;d X i

[P.T.O.



72.

73.

Match List I with List IT and select
the correct option from the codes

given below :

List I List II
@  Body build (1)  Body’s chemi-
cal composition
(@) Body size (2) Height and

mass of the
body
Form

(@ii) Body composition (3) and

structure of the

body

(fv) Lean body mass (4) Fat free mass of
the body

Codes :

@ @ G o)

Aa 3 @ @ @

B G @ QO @

3 @ @ @

M B @ QO @

The stages of reaction to an
inquiry include :
(A) Shock,

depression and acceptance

denial, anger,

(B) Denial, anger, bargaining and
adaptation
(C) Denial, anger, bargaining and
depression
(D) Crisis, shock, post-traumatic

stress and adaptation

72.

73.
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It 19 ARt I e ang uarg aret

[N

fooiean Hehdremed et :

Rl | o 1T
@ IR T (1) IR TEEiTen
Al
@) TR AHR  (2) WL S« °
ESE!
(i) IRR =2k (3) IR & A
T e
(v) ©F &S (4) TR =ER
Eaics) IENESEEEE]
W M
@ @ @) ()
Aa 3 @ @ @
B B3 @2 @GO @
< 3 @ @ @
& @ @1 @

gEmdien gfafsaren seeames) s
siqvie Bl :

(A) STEME, TR, M, TR, @HR
(B) TR, T, SEEE, AJhHA

(C) 7R, I, S, 9™

(D) U= YE, AT, S YY=d T,

NS
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74.

75.

Match the List I and List II and

select the correct option from the

codes given below :
List I

Nominal data

List II

@) (1) One observation
is greater than
another

(ii) Ordinal data (2)  One observation
is different from
another

(iit) Interval data (3)  One observation
is many units

greater than

another

(iv) Ratio data (4) One observation
is many times
greater than
another

Codes :

@ @ @) Go)

A @O 2 B @

B 2 @O B @

@ O @ @

D 2 B @ @

Given below are citations of books
in a research thesis. Identify the
correct .

(A) Carr, G. Sport Mechanics for
Coaches (2nd ed.).

IL : Human Kinetics

Carr, G. (2004). Sport
Mechanics for Coaches (2nd ed.)
Human Kinetics

Carr, Gerry. (2004). Sport
Mechanics for Coaches (2nd ed.)
IL : Human Kinetics

Carr, G. (2004). Sport
Mechanics for Coaches (2nd ed.)
IL : Human Kinetics

(B)

(®))

(D)

74.

75.
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ST 1 9 At 11 = g e arg 94

arell feoiean gehdishyA ferer
R | T 10

@) TmEE (1) Tk Rl gEen
et e HIS FHd

@) HEAR  (2) TH T gE
et el S 3TEd

(i) 9 (3) T Fleo gu=n
et e 3feren

THH WIS 3T

Gv) O (4) TH Frdeo go=n

et EEICECOTiE|
TS 3THd

aio
@ @ @) (o)

A @O @ G @

B 2 @O G @

©c @ O @ 3

D 2 B @ @

GIMeH geEdiel geaehren gy faer oTe.

e foree Gy Wi
(A) &N, . THEH HehfTor TR e
(2% am)

SATA. : GAA HAIH

FR, S, (2004). WEY Heh-Ted
W ey (28 o)

I MCARECIEacY

FR, T (2004). LY Weh -1
W ey (28 o)

M. TA. : GHAT HIAIR]
FR, S, (2004). WEY HehTed
W ey (28 o)
3. TA. : PaT HEA

(B)

(®);

(D)

(aV

CiCasy
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